22/03/2019

Corporate Air Rear Single/Tandem Axle Suspension (Air Beam)

STENGEL BROS TN

R

C

~ LEAF SPRING AND SUSPENSION SPECIALIST

WWW.STENGELBROS.NET
EMAIL: SALES@STENGELBROS.COM

)

TOLL FREE: 1-888-433-3149

Home (/) | Suspension Parts (/Suspension-Parts_c_127.html) |
International - Navistar Suspension Parts (/International--Navistar-Suspension-Parts_c_426.html) |

Corporate Air Rear Single/Tandem Axle Suspension (Air Beam) (/Corporate-Air-Rear-SingleTandem-Axle-

Suspension-Air-Beam_c_1257.html)

CORPORATE AIR REAR SINGLE/TANDEM AXLE
SUSPENSION (AIR BEAM)

Corporate Air Rear Single/Tandem Axle Suspension (Air Beam)

Click on the part number for pricing and information!

Corporate Air Rear Single/Tandem Axle Suspension (Air Beam)

Key Part Number Description No. Req OEM Reference Remarks
1 338-1918 Hanger 2 3545280C1
1 338-2342 Hanger 2 3624113C3 Heavy Duty

https://www.stengelbros.net/Corporate-Air-Rear-Single Tandem-Axle-Suspension-Air-Beam_c_1257.html

12



22/03/2019

Corporate Air Rear Single/Tandem Axle Suspension (Air Beam)

2 | RB-268 (http://stengelbros.net/product.asp?itemid=8726) [Bushing, Anti-walk 2 3538115C1
3 DIA Seat, Axle 2 Various
1 338-2343 Saddle, U-Bolt 2 3541681C5
5 DIA Plate, Bottom 2 Various

Kit, U-Bolt; 7/8" x 5 1/2" x 16

o 1t, U-Bolt; 7/8"x 5 1/2" x 4 |3538842¢2 7/8" x5 1/2" x 16 3/4"

6 | 361-632 (http://stengelbros.net/product.asp?itemid=7436) |3/4"

Kit, U-Bolt; 7/8 "x 5 1/2" x 15

it, U-Bolt; 7/8 "x 5 1/2" x 4 7/8"x 5 1/2" x 15 3/4"
6 361-664 3/4"Lg
C It Shock Catalog F

Shock Absorber 2 Various onsu OF_ ata c_)g ,Or
7 See Shocks Model Specific Applications
8 |352-1191 (http://stengelbros.net/product.asp?itemid=15938)[Air Spring 2 3541731C1

Valve, Integral Dump; Height 1 w/Integral Dump Valve;
9 | 334-1580 (http://stengelbros.net/product.asp?itemid=9770) [Control Reuse Factory Brackets

Linkage Assembly; Universal 1 35/8"-19 5/8" Range; Use
10 [ 334-751 (http://stengelbros.net/product.asp?itemid=10318) [Adjustable w/All Height Control Valves
11 | 345-904 (http://stengelbros.net/product.asp?itemid=11549) [Track Rod; 25 3/8"Lg c/c 1 3580088C1 Replaces 3548381C1
12 | 338-181 (http://stengelbros.net/product.asp?itemid=10698) [Bracket, Track Rod/Frame 1 For 5/8" Bolts
13 334-2000 Bracket, Shock Absorber 2 3549103C2

See Leaf Spring Web Catalo,

Spring Assembly . pring g

14 For Details

You

f W (https://www.youtube.com/watch?

Rjehdi8spsinc)

Pages ]
Copyright 2019 Stengel Bros. Inc.. All Rights Reserved. eCommerce Software by 3dcart (https://www.3dcart.com).
visa =
N

https://www.stengelbros.net/Corporate-Air-Rear-Single Tandem-Axle-Suspension-Air-Beam_c_1257.html

212



